A6 S A HAMG RS IR X K2 (R06.10.20)
INFRRE DR

EPN ST

JIEif3: E T % YA YR 4 AR 3
S5 AR R Ty % wLizs 20 ey NI e 5 1,860
A oA B R TIE Fhh TR T 7 A B N R R 6 1,780
e H Ik S Lo 25D I AR a5 5 1,630
A LY »U72 BV BB K27 B e TR /N A 6 1,510
e 2 H RS 0D WK W A i N7 BE B D o B 6 1,450
e % MK ks LkOK D NI EIAY | o R e 5 1,430
e 5 5 Z i woX D NI EIRVADNE i N 5 1,410
A B ok BEOfE TohMB FThh e Wi 7 i IR SRR 5 1,360
S + = H R obe Fik Dy NRYEIAY A e 6 1,350
=% i H % B PEE WHX ey N A e 5 1,350
=5 Jos i JE& HH K% W A vl N7 BE B D o B 6 1,350
=% i sx w5 o RPEHE WHID DL VNN TIRYAR - 3 WA N o 3 5 1,350
=5 | i ol PbHIE DA e /NN IRVAY 1 i B N 6 1,340
=4 A B H i g7z v &5 RS BN B 5 1,320
=% wmoon B e g e /NN TIRVAY i I N 5 1,320
=5 1 H B 54 b Y DI NETEIRVAY | 7 N 5 1,310
=4 N S A 7 ZiERL hai N N TRVA /N2 ey i 6 1,310
= N B EE i B BOTL HWwiH o L FRRYAR [l T N o 3 5 1,290
=5 okt ® 0 Bhrtb O DI NETEIRVAY 1| 7 N 6 1,280
=4 B B ¥ PRE 1k A W R v 5 1,240
=5 B A O B A FLbE wkY o LG FRRYAR <[l T N 3 6 1,220
=5 WOl | B 5H7E 2O5h B T HE B D R 5 1,210

AT, FERINENE

544

JIEf3: E T 4 X A D7k ¥R % AR 3
147 AR R Ty % wLizs 20dH ey N A e 5 1,860
yADA H I S Lbwn 260 L AR T R 5 1,630
3 % B M K TS LikS7 A X A R 5 1,430
4 {f 5 5 Z i wox D NI EIRVADNE i N 5 1,410
5 {r TS Btk FOohD Fhh N A S 5 1.360
6 1V sz w5 o PEDHE WHD N NN IRVA - R e Y 5 1,350
7 i H % B PEE WHE ey N A e 5 1,350
8L A R H A %= Y xd e TIOR3 5 1,320
9 {vr wmon 1 e D A X A 5 1,320
10472 | f1 H i B4 b Y ey N A e 5 1,310
642k

JIEif3. E T 4% X BB 7 YR % AR R
1 {7 WA TR TIE Fhh I A el v 6 1,780
2 w4k H B R »U72 BV [ e e (g A N e vy 6 1,510
31 2 H LSS EDOH W D NI EIOAY | o R e 6 1,450
4 7 oM bh 7-<KF B T 7 HE B D 2E R 6 1,350
5 {r + = H R obe i NN IRVAY 3 R N 6 1,350
6 I ] g i3 PbIE DA A A N 6 1,340
7r N B B il huik N AL YN YN 6 1,310
81 th b Y Thrtb O W A vii N7 BE B D o B 6 1,280
9 {vr WA O B Al ZLbE whY LA T e N v 6 1,220
100672 | A % W % WwLd 37=1F R NI TIRVAD <[IE A N =g v'd 6 1,210

s

INEREDER ANEIK

JIEif7 = 3
i T A T AT BE B D R 4,460
e NI VN =V 4,260
=% DR /NN TIRYAY A N o 53 4,230
=4 RN N 4,020
=% N /NN FIRVAY i B O N 4,000




